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t  – ;  

 t =0.5(t 1+  t 2 ).,   t 1    t 2         

. 

n – , ; 

1/m Pi  , ,   

 

Pi -  i-  

   
 

1.  1 

1= 1min 1 1 1; ;
2

C N
t t P t Ni

                                      (2.1) 

1  0.9…0.999995,  

0,995. 
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k

k
k t

t
T

121
2

                                                                                        (2.2)   

   
1 ( / )1

t
T

t
  .                                                               (2.3) 

     
11 i

tT
p t
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4.  1   .   
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,  6, 

 5  
 0,000001  0,9.  
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5.  1: 
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  2 2 2

1
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i
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1M t t P t dt                                                                            (3.18) 

(2) 2
2

2Mt t P t dt                                                                         (3.19) 

(2) 2
2 2 2

2 1 1( )Dt Mt Mt                                                       (3.20) 
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- ; 

 - ; 

0 1/t  - ; 

c -  , ; 

/( )c   -    ;  

/     - , .   ; 

m  -        ; 

0P  - ,     ; 

Pi  - , , ,  i  - ; 

Pc i  - ,   «c»   i - ; 

PW  -   ; 

P   - ; 

  - ,  

  -  ,   

U   -    ;  

Q  -  ; 

L     -   , . .  ; 

W    - ;  
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 3.1     
 M/ /1 

 

 
 
 

.3.4   M/ /1 

 

=4 1/  -     

=5 1/  -       

=1 -      .    

=1 -     ( )     

 

1. : 

0
1 0,2t                                                                                       (3.21) 

2. : 
4 0,8
5

                                                                                   (3.22) 

3. : 

2
0

1 1
K

                                                                                             (3.23) 

4. : 
2 2 2

0(1 ) 0,8 (1 1) 3,2
2(1 ) 2(1 0,8)

Q                                                                (3.24) 

 

5. : 
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3,2 0,8 4L Q                                                                              (3.25) 

6.  : 

3,2 0,8
4

QW                                                                                    (3.26) 

 

7.  : 

 4 1
4

LT                                                                                          (3.27) 

 

 3.2    
 M/Ek/1. 

 

 
 
 

. 3.5   M/ Ek /1 

 

=4 1/  -     

=5 1/  -       

=2 -      .    

=1 -     ( )     

1. : 

0
1 0,2t                                                                                     (3.28) 

2. : 

4 0,8
5

                                                                                (3.29) 

3. : 

2
0

1 0,5
K

                                                                                      (3.30) 
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4 : 
2 2 2

0(1 ) 0,8 (1 0,5) 2,4
2(1 ) 2(1 0,8)

Q                                                         (3.31) 

 

5 : 

2,4 0,8 3,2L Q                                                                        (3.32) 

6 : 

2,4 0,6
4

QW                                                                                (3.33) 

 

7 : 

 3.2 0.8
4

LT                                                                                (3.34) 

 

        

 3.3     

 M/Ek/1/ / /  

 

 
. 3.6    M/ Ek /1 

 

=4 1/  -     

=5 1/  -       

=500 -      .    

=1 -     ( )     

 

1. : 
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0
1 0,2t                                                                                       (3.35) 

2. : 

4 0,8
5

                                                                                   (3.36) 

3. : 

2
0

1 0,002
K

                                                                                      (3.37) 

4.    

: 
2 2 2

0(1 ) 0,8 (1 0,002) 1,6
2(1 ) 2(1 0,8)

Q                                                         (3.38) 

5.  : 

1,6 0,8 2,4L Q                                                                           (3.39) 

6.  : 

1,6 0,4
4

QW                                                                                   (3.40) 

7.  : 

 2,4 0.6
4

LT                                                                                    (3.41)    

 

 3.4  

 G/G/1 

 

 
.3.7         G/G/1 

 

=4  1/  -     
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=5  1/  -       

=2 -   .  

 

=2 -      .    

=1 -     ( )     

 

1.   : 

0
1 1 0,2

5
t                                                                                      (3.42) 

2   : 

4 0,8
5

                                                                                           (3.43) 

3.  

: : 

2 1 0,5
K

                                                                                                (3.44) 

4.  

: 

2
0

1 0,5
K

                                                                                            (3.45) 

5 : 
2 2 2 2

0( ) 0,8 (0,5 0,5) 1,6
2(1 ) 2(1 0,8)

Q                                                               (3.46) 

6 : 

1,6 0,8 2,4L Q                                                                                  (3.47) 

7 : 
1,6 0,4
4

QW                                                                                              (3.48) 

8 : 

   2,4 0,6
4

LT                                                                                       (3.49) 
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  3.5   

     M/E/1    

1

2

 
. 3.8   /1 

1  ( ) —  1-   . 

2  ( ) —   2-    

. 

1  ( ) —    1-   . 

1 —  

 1-   . 

2  ( ) —     2-  

. 

2 —  

 2- . 

                                                                                      3.2. 

    3.5. 

1 2 1    1 2 2 -

 

 

 

2 2 20 1 16 1  

: 

: 

1 2 2 2 4 /                                                       (3.50)                          

: 
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1 2
0

1 2

2 2 0,05625 .
4 20 4 16

t
                            

(3.51)
                                 

1.  : 

1 2 2 2 4 / .                                                         (3.52)                               

2.    : 

1 2
0

1 2

2 2 0,05625
4 20 4 16

t
                           

(3.53)
                            

3.  : 

1
1

1

0,1.                                                                               (3.54)                                                                       

2
2

2

0,125.                                                                         (3.55) 

 1 2 0,125 0,1 0,225.                                          (3.56) 

                                          

 1,  

, . 

4.     (  

): 

    
1

1

1 0,05 .t                                                                           (3.57) 

    2

2

1 0,0625 .t                                                                      (3.58) 

    2
1

1

1 1.                                                                               (3.59) 

     2

2

2

1 1.                                                                            (3.60) 
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2 2

1 1 1 2 2 21 1 0,1 0, 05 2 0,125 0, 0625 2 0, 0165 .
2 1 2(1 0, 225)

t t
W       (3.61) 

5.   (  

): 

1 1 0,0165 0,05 0,0665T W t  ,                                        (3.62)                                     

2 2 0,0165 0,0625 0,0791 .T W t                                     (3.63) 

6.   : 

1 1 2 2 2 0,0665 2 0,0791 0,07275 .
4 4

T TT c
                  (3.64)                            

0 0,0165 0,05625 0,07275 .T W t                                                   (3.65) 

7.  : 

1 1 2 0,0165 0,033Q W                                                                 (3.66) 

2 2 2 0,0165 0, 033Q W                                                                 (3.67) 

1 2 2 0,033 0,066Q Q Q                                                                   (3.68) 

8.   : 

1 1 1 0,033 0,1 0,133L Q                                                                (3.69) 

2 2 2 0,033 0,125 0,158L Q                                                            (3.70) 

1 2 0,133 0,158 0,291L L L                                                               (3.71) 

9.   : 
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                                                                                              3.3. 

                3.5 

.   

            
t 

) 

 

 

) 

 W ) T ) Q  L  

 1-  

 
0,05 2 0,1 0,0165 0,0665 0,033 0,133 

 2-  

 
0,0625 2 0,125 0,0165 0,0791 0,033 0,158 

 0,05625 4 0,225 0,0165 0,07275 0,066 0,291 
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 3.6    

1

2

3
 

. 3.9       M/E/1  

 

1,  2, 3  (1/ ) -   1- , 

2-  3-   ;   

1, 2, 3 (1/ ) -     1- , 2-  3-   

  ; 

1, 2, 3 -      .  

 1- , 2-  3-     ;  

         -  

    (  -  ,  ). 

                                                                                                       3.4 

          3.6   
 

 
 
 

   i   
(1/ ) 

   0 1/it    ( )   2
0

1

1
i k

   (2) 2
0 0

1

1
i i

kt t
k

 t  

1   0,5     0,5    0   0,25   0,25 
2   0,1      2,0     1    8   0,20 
3   0,03       5,0     0,2    30   0,15 
 
1.  : 

1 2 3 0,63 1/                                                                      (3.72) 

2.    : 
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1 2 3
0

1 2 3

0,94t
                                                           (3.73)

 

3.  : 

1
1

1

0,25                                                                                                (3.74) 

 2
2

2

0,2                                                                                                 (3.75) 

 3
3

3

0,15                                                                                               (3.76) 

  1 2 3 0,6                                                                                      (3.77) 

 1,  

, . 

 

4)     (  

): 

                

 
2 2 2

1 1 1 2 2 2 3 3 31 1 1
2,28

2 1
t t t

W                             (3.78) 

5.    (  

): 

1 1 2,28 0,5 2,78T W t  ,                                                               (3.79) 

2 2 2,28 2,0 4,28T W t                                                                 (3.80) 

3 3 2,28 5,0 7,28T W t                                                                 (3.81) 

 

6.  : 

1 1 2 2 3 3 3,22 .T T TT c
                                                          (3.82)

 

     0 3,22T W t c  
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                                                                                                                     (3.83) 

  : 

-   ; 

-    

 

.  

7.  : 

1 1 0,5 2, 28 1,14Q W                                                                  (3.84) 

2 2 0,1 2, 28 0, 228Q W                                                                (3.85) 

3 3 0, 03 2, 28 0,0684Q W                                                            (3.86) 

1 2 3 1,14 0, 228 0,0684 1, 4364Q Q Q Q                                     (3.87) 

8. : 

1 1 1 1,14 0, 25 1, 39L Q                                                                (3.88) 

2 2 2 0, 228 0, 2 0, 428L Q                                                            (3.89) 

3 3 3 0,0684 0,15 0, 2184L Q                                                        (3.90) 

         1 2 3 1, 39 0, 428 0, 2184 2, 0364L L L L                                       (3.91) 
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1
Q                                                                                         (5.18) 
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1
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                                                                                                      5.3 

  

   M/M/c  

  100%
L L

L L
          12 2  

 

 

  
 

1c  4c  7c  10c  

 0,3  - 0,23 - 0,5 0,02 - 0,003 

0,5  0,2 - 1,84 - 1,4 - 0,7 

0,7  0,05 - 3,13 - 4,64 - 4,25 

0,9  0,08 -2,28 - 5,75 - 7,8 

 

                                                                                                     5.4 

  

 G/G/c.  

    100%
L L

L L
 

  1c   4c   7c  10c  

 

 
 

 

 

2

 0,52  22  0,52  22  0,52
 

22  0,52
 

22  

0,5 7,4 9,5 0,5 0,08 0,01 - 0,09 0,01 - 0,07  

0,3 2 - 12,2 - 12,8 - 3,81 - 3,63 - 0,75 - 0,94 - 0,17 - 0,31 

0,5 7,91 7.55 0,82 0,7 - 0,08 - 0,81 - 0,1 - 0,52  

0,5 2 - 10,0 - 9,48 - 8,65 - 8,85 - 5,06 - 5,37 - 2,53 - 2,91 

0,5 6,4 4,18 1,2 0,93 - 0,8 - 1,8 -1,0 - 3,2  

0,7 2 - 6,68 - 5,8 - 11,13 - 10,4 -10,36 -12,7 - 9,65 - 11,1 

0,5 2,06 1,4 1,15 0,2 - 1,6 - 4,26 - 3,2 - 6,75  

0,9 2 - 1,56 - 3,4 - 6,4 - 5,45 - 10,26 - 10,7 -12,67 - 14,3 
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 M/M/1 
 

2 2(1 )
2(1 )

DQ    2(1 )
DL  

M/M/2 
  

3 32 (1 2 )
2 2(1 )

DQ    
22 (1 )

2 2(1 )
DL  

M/M/c 
  

1 1(1 )
2(1 )

c cc cDQ c    (1 ( 1) )
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/ 3Z c W                                                                                              (5.28) 

,  
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. 

1.     ( )  
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 =3 =4 =5 =6 =7 

/ c  0,9 0,675 0,54 0,45 0,3857 

  0P  0,025 0,057 0,065 0,067 0,067 

   Q  7,35 0,81 0,2 0,04 0,0135 

   L  10,05 3,51 2,9 2,74 2,7135 

   W ) 5,44 0,6 0,15 0,03 0,01 

   T ) 7,44 2,6 2,15 2,03 2,01 

     /c                 

.      
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    3 W                 

. 

16,32 1,80 0,45 0,09 0,03 

/ 3Z c W
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W c
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 i – ; 

- ijP -  i-  

 j- . 

 
 

. 

1.   , 

  i-  (i=1..n)    

. . 
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1

.

n
j ij

Pij
                                                                                  (6.1) 



 84 

 2.      i    

i i       ,  i  -  i-  

. 

  

: 

1

.

n
j ii

Pij
                                                                                        (6.2) 

 
3.    

 i . (i=1..n). 
 

4.   i  -   i-   : 
  

/i i ii c                                                                                               (6.3) 
 I –  

. 

1i  (i=1..n). ,  

 i- . 

, ,   

 (  

/1). ,  

 

:  

- ; 

- ; 

- , . 

5.  i-  

 . 

 

1

1
i

i i
i

i

Q                                                                                            (6.4) 

       -  i- ;                     
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1
i i

i
i

i

L                                                                                                        (6.5) 

                -  i- ;                      

(1 )

i
i i

i
i

i i

c
W c                                                                                                (6.6) 
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(1 )i
i

i i

T c                                                                                                 (6.7) 

  -  i-  (  

)                                                                                            

6. . 
 

     
1

n

iQ Q                                                                                                    (6.8)                  

   
1

n

iL L                                                                                                       (6.9) 

    
1

n

iW W                                                                                                   (6.10) 

     
1

n

iT T                                                                                                    (6.11) 
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WT

VT
 

 
. 6.1 /1 . 

 
: 

4 / ,
10 / .         

5.0p  - . 

/1. 

 

: 

1.  , ; 

.
p

                                                                                 (6.12) 

.4 8 /
1 1 0,5p                                             (6.13) 

 

2.  

. 

2
5,01

1
1

1
p                                                                        (6.14) 

 - .  

3.  . 
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0 , 0,8t                                                                      (6.15) 

 0t  - .    

,1,010t                                                                                  (6.16) 

  .8,01,042                                                                                  (6.17) 

4.  . 
2 0, 64 3, 2.

1 1 0,8WQ L                                                                  (6.18) 

5.  . 

4 ,V WL L L                                                        (6.19) 

)( - . 

6.  . 

:   ,WW TL                                                          (6.20) 

3, 2 0, 4 .
8

W
W

LW T                                                             (6.21) 

0, 4 2 0,8 .WW T T                                        (6.22) 

: 

0 0,8 0,1 2 0,8 .
1 0, 2W

tT                                                 (6.23) 

7.   

: 

0 0.1 2 1 .
1 1 0.8V
tT T c                                                           (6.24) 

4 2 1 .
8

V
V

LT T c                                                              (6.25) 
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: 

 -  ;   

t  -     ;  

1/ t    - ; 

   - ;  

Q - ; 

L -    ( ); 

W - ;  

T -    ; 

 ( )P t t  - ,  

. ( t ). 

, 

,   

:  

1.     

   p . 

          p                 (6.26) 

  ,  : 

 1 p    ,                                                                            (6.27)       

  p1
1

                                                                                           (6.28) 

 -     . 

2. : 

                                                                                                    (6.29) 

3. : 
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2

1
Q                                                                                                   (6.30) 

4. : 

1
L Q                                                                                       (6.31) 

5. , ,     

  ,    « »    

 

QW                                                                                                   (6.32) 

6.  , ,     

  ,    « »    

 

LT                                                                                                   (6.33) 

7.   ,      

     t  

/( ) 1 t TP t t e                                                                            (6.34) 

 

,   ,  

: 

1
(1 ) (1 ) (1 )

LT
p p

                                             (6.35) 

  6.1    

   4 , 

,  10 

.    

.  

,  
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.   

 20%.,         – 50%. 

   

. 

. 4 ,  10       / 0,4  

 1, 2  3    : 0 0p ,    0 2p ,   
0 5p ,   

.  

         

,    , . 6.1 

                                                                                                         6.1 

    

  

    

  

   

0 2p ,  

 

                

0 5p ,  

  p   0                0,2                0,5 

    1                1,25                2 

    

 

 4                5                8 

   0,4                 0,5                0,8 

  Q             0,267                0,5                3,2 

 L        0,667                1,0                4,0 

 W        0,067                0,125                0,8 

 T         0,167                0,250                1,0 

 

    , ,  

. ,  

40%  ( 0 4, ),   : 
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-  20%  

  ,   ,   

 1,5 ; 

-  2,5  (  20%  50%,)   

      4 .  

 

  6.2    

     

,   . 6.2   

 

.  

20   . 

. 

    (6.35)     

, . 6.2  

                                                                                                              6.2 

   

  

 

  

 1 2 3 

   

        30 25 22 

 p  0,3 0,1 0,05 

   

1 p( )        21 22,5 20,9 

 T         0,5 0,4 (*) 1,11 

.  (*)   
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  ,  

. 6.2, ,    

  2. 

 

. 

 

 

: 

1. , 

. 

 

,  
2

. 

2.  ( )  

 ( ). 

3. . 

4. . 

i      
. 

5.  

. 

: 

1. i –  i-  

2. Lwi –  i- . 

3. Li –  i- .   

Li = Lwi + iCi, i –  ( )  i-  

. 

4.    i-  – Vi. 

5.  i-  (  

) – Wi. 
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6.    

 – W. 

7.  – V. 

     

, . . 

 

 6.3).  

 6.3 . 

 

 
. 6.2.   . 

 

 -  . 

i -    i-  ( )    

i  ( i). 

Pij –  i-  j-  

. 

i – . 

P  – . 

 

/1 

= 1 1/c 

1= 10 1/c 
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2= 8 1/c 

3= 5 1/c 

P12 = 0,75 

P13 = 0,25 

P21= 0,50 

P  = 0,50 

. 

1. ,   

. 

1 2 2 1 3

2 1 1 2

3 1 1 3

P

P

P
                                                                    (6.36) 

i i                                                                                                     (6.37) 

 –    i-  

. 

2. : 

1 2 21 3

2 1 12

3 1 13

P
P
P

                                                                         (6.38) 

: 

1 2 21 3

2 1 12

3 1 13

1 P
P
P

                                                                                  (6.39) 

3. i: 

1 2 3

2 1

3 1

1 0,5

0,75

0,25
                                                                                (6.40) 

1 1 11 0,5*0, 75 0, 25                                                                  (6.41) 
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  1 2,67                                                                                                  (6.42) 

 2 2                                                                                                        (6.43)                      

3 0,67                                                                                                  (6.44) 

 

. 

        1
1 1 2,67 /c                                                                              (6.45) 

        1
2 2 2 /c                                                                                   (6.46) 

        1
3 3 0,67 /c                                                                              (6.47) 

4. : 

                                                                                

         1
1

1

0,267                                                                                 (6.48)                                                                            

         2
2

2

0,25                                                                                   (6.49) 

        3
3

3

0,134                                                                                   (6.50) 

       1, 1,i
i

i

i n                                                                      (6.51)                

               n – . 

     ,  

, . 

 1i ,  

, . 

 

: 

- ,  1i ,   
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- i  i- ,   

1i , ). 

-  

 Pij. 

,  

: 

1. : 
2 2

1
1

1

0,267 0,097
1 1 0,267wL                                                              (6.52) 

2 2
2

2
2

0,25 0,083
1 1 0,25wL                                                                (6.53) 

2 2
3

3
3

0,134 0,021
1 1 0,134wL                                                               (6.54) 

2.  (  

). 

                                                                    

i wi iL L                                                                                                  (6.55) 

1 1 1 0,364wL L                                                                                  (6.56) 

2 2 2 0,333wL L                                                                                 (6.57) 

3 3 3 0,155wL L                                                                                 (6.58) 

3.  

. 

                                                              

1 1
i i i

i
i i i

tW                                                                          (6.59) 

1 0,0364W                                                                                              (6.60) 

2 0,0416W                                                                                             (6.61) 



 98 

3 0,0309W                                                                                              (6.62) 

 

4.  

. 

                                                         

1 1
i i i i i

i
i i i

tW                                                                  (6.63) 

1 0,0972W                                                                                      (6.64)  

2 0,0832W                                                                                     (6.65) 

3 0,0207W                                                                                     (6.66) 

 

5.  

). 

 

1
1 1

i
i

i i i

tV                                                                       (6.67) 

1 0,136V                                                                                               (6.68) 

2 0,166V                                                                                              (6.69) 

3 0,230V                                                                                              (6.70) 

6 .  

) . 

                                                

1 1
i i i

i
i i i

tV                                                                        (6.71) 

1 0,364V                                                                                               (6.72) 

2 0,333V                                                                                               (6.73) 

3 0,135V                                                                                               (6.74) 
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7. . 

n – . 

1

0, 2
n

i
i

W W                                                            (6.75) 

8.    (  

) . 

n – . 

1

0, 852
n

i
i

V V                                                          (6.76) 

9.  

. 6.3. 

                                                                                                       6.3 

 

  

 

 1  2  3  

i 0,267 0,25 0,134  

Lwi 0,0097 0,0083 0,0021 0,2 

Li 0,364 0,333 0,155 0,852 

Tw  ( ) 0, 0364 0,0416 0,0309 0,107 

T     ( ) 
0,0972 0,0833 0,0207 0,2 

Tv  ( ) 0,136 0,166 0,230 0,531 

T   ( ) 0,364 0,333 0,135 0,852 

 

                      Li  T                                                                                                                                                                                                                                             

                                                                                                              (6.77) 
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 6.4 

   ,     M/M/1    M/M/2 

 

 
 

. 6.3  , /1    /2 

 

  -       

1-      1  

2 -      2  

P12 -  1  

2 

1  2- 1  2 

                                                                               6.4 

 6.4 

 (1/c) 1(1/c) 2  (1c) P12   1     2   

 1 2,5 0,25 0,2     1     2 

 

: 

1. : 
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1212

21

P
                                                                                         (6.78) 

 i –  i-  

. 

:       

1 1                                                                                           (6.79) 

2 2                                                                                          (6.80) 

2.   : 

1212

21

P
                                                                                    (6.81) 

3.      

         

12
11 2

1 21 2 12
12

22 2 122 1 12 12
212

12

0, 21 1 1, 25111 1 0,8
1 0, 2 0, 251

1 1 0,2

P
P

P
PP P

P
P

(6.82) 

:                    

            1 1 1,25 1/ ;c                                                               (6.83) 

        2 2 0,25 1/ .c                                                                       (6.84) 

4.     : 

 1,          

. 

5.   :                                                         
2
11

1
1

0,25 0,5
1 1 0,5i

Q                                                                       (6.85) 

33
2

2 22
2

2 0,52 0,333
1 1 0,5

Q                                                             (6.86) 
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6.  :                                                             

1
1

1

0,5 1
1 1 0,5

L                                                                            (6.87) 

2
2 2

2

2 2 0,5 1,333
1 1 0,25

L                                                                 (6.88) 

 

7.   :                            

1
1 1

1 1

0,51,25 0,5
1 1 0,5 2,5

W                                    (6.89) 

2
2

2 2 2
2 2

0,250,25 0,333
1 0,25 0,251

W                     (6.90) 

8.    : 

1 1
1 11,25 1

1 1 0,5 2.5i i i

T                                      (6.91) 

2 2 2
2 2

1 10,25 1,333
1 0,25 0,251

T                      (6.92) 

9. . 6.5 

                                                                                                 6.5 

    6.4. 

 

 i  i  i  iQ  iL  iW  ( ) iT ) 

1 
2,5 1/ c  

1,25 1,25 0,5 0,5 1,0 
0,5 

1,0 

2 
0, 25 1/ c  

0,25 0,25 0,5 0,333 1,333 
0,333 

1,333 

 — 1 - 0,833 2,333 0,833 2,333 
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. 

 

. 6.4 . 

 

-   1, 

 2, 

, 1, 2i i - ,  i , 

11, 21P P  -  1   

 2  1. 

,  

: 

1 1 11 2 21P P                                                                                  (6.93) 

2 2 21 2 21P P                                                                       (6.94) 

, . 

: 

1
11 21(1 ) (1 )P P

                                                                                  (6.95) 

2
21(1 )P

                                                                                               (6.96) 

1 2, -  1  2 

. 
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 7.  ,    

 

.  

 

 ( , 

.)  

. 

   

    M/M/C/0   

 1.                                                                                   (7.1) 

    

                                                                                                    (7.2) 

3.          
2 1 11 ....0 2! ! !0

ic
P

ii
                                               (7.3) 

4. , ,  i  -            

      0!

i

P Pi i
 ,                                                                                               (7.4)   

          0 i c                

5.  

   0!

c
P P Pc c

                                                                                       (7.5) 

6.  ,  

       (1 )Pc                                                                                     (7.6) 

7.  

    /( ) (1 )U c Pc                                                                    (7.7) 

8    
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 (1 )k U c P                                                                           (7.8) 

9.     

     0Q                                                                                                           (7.9) 

10. ,  

L Q c U c U                                                                                          (7.10) 

11.     

   0W                                                                                                           (7.11)           

 12.       

       0
1T t                                                                                                (7.12) 

13.       

    (1 )q P                                                                                            (7.13) 

14.             

      A q                                                                                                    (7.14) 

 7.1 

  ,   

  ,  85%  

 (  15%  

).   ,  

. 

 9 ,   

  3 . 

.  

       

   9 3
3

                                                                                             (7.15) 

, ,  

     . 7.1 

                                                                                                 



 106 

            7.1  

 

 ( )  
  =1   =2  =3   =4   =5    =6 

      /       3   1,5   1,0   0,75  0,6   0,5 
  0P  0,25 0,1177 0,076

9 
0,061 0,0534 0,051

5 
 

  

0!

c
P P

c
 

0,75 0,53 0,346 0,206 0,108 0,052 

 
(1 )U P  

0,75 0,705 0,654 0,6 0,535 0,474 

 
     

k U c  

0,75 1,410 1,962 2,4 2,675 2,844 

 
 

 1q P   

0,25 0,47 0,654 0,794 0,892 
 

0,948 

   
 

A q  
) 

2,25 4,23 5,88 7,14 8,02 8,53 

,  
 

      (*)  

 
(*)  - , . 

,  =5,      

,    

   89,2%. .  

     

. 

 
 

   

    M/M/C/m:   
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1.                                                                            (7.16) 

2       

                                                                                           (7.17) 

3.    

    
11 (1 ) 1

0 ! ! (1 )0

i c mc
P

i ci
                                                     (7.18)                    

4. , ,  i  -  

           0!

i

P Pi i
        1 i c                                                                (7.19) 

   0!

i

i cP Pi c c
        ( )c i c m                                                          (7.20)         

5.  

   0!

c m
P P Pmm c c c

                                                                         (7.21) 

6.  ,  

                       (1 )Pc                                                                 (7.22)           

7.    

                       /( ) (1 )U c Pc                                               (7.23) 

8.  

                     
1 ( 1)

( ) 02!1 (1 )

mc mc m m m
Q i c P Pi c ci c

       (7.24) 

9. ,   

             
1

c m
L i P Q c Uii

                                                                    (7.25) 

10.         

         2

1 ( 1)
0! (1 )

mc m mQW P
c cc

                                (7.26) 

 11.          
              /T L c                                                                                           (7.27) 
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12.     
        (1 )q P                                                                                       (7.28)           

13.      
              A q                                                                                       (7.29) 

   
,   

  . 7.2.                                                                                                       
 7.2 

     M/M/1/m    
 

    
 1     /       

 2  
(1 )

0 2(1 )
P m    

 3 , ,  i  -  

 
(1 )

2(1 )

i

Pi m  

 4   

 
1 2( )

1 2(1 )

m m
P Pm m  

 5     

(1 )Pc  
 6     

/ (1 )cU P  
 7    

 

2 11 ( 1)
2(1 ) (1 )

m mm m
Q m  

 8    

 

1 21 ( 2) ( 1)
2(1 ) (1 )

m mm m
L Q U m  

9    
1( 1) 1

1(1 ) (1 )

mQ mW mc
 

10      
11 ( 1) 1

1(1 ) (1 )

mL mT mc
 



 109 

 
                                                                                                    7.3 

     M/M/2/m 
      

 1     

             
2 2

 

 2  

           
(1 )

0 3(1 2 )
P m    

 3   , ,  i  -  

             2 0
iP Pi  

 4     

          
2 3(2 2 )

2 3(1 2 )

m m
P Pm m  

 5     

           
2(1 2 )(1 ) 3(1 2 )

m
Pc m  

 
 6  

         / 2 (1 )cU P  
 

 7    

          2 )4 3 3 3(
3(1 ) (1 2 )

mm m mmQ m  

 
 8    

           2
2 32 2( 3) 2( 2)

3(1 ) (1 2 )
Q U

m mm mL m  

 
9    

           
3 2 2 2

2(1 ) (1 2 )

m m mQ m mW mc
 

 
10    

           
3 2( 2) ( 3) 1

2(1 ) (1 2 )

m mL m mT mc
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                                                                                                             7.4 
   

M/M/1/m      M/M/2/m    1 
    M/M/1/m     M/M/2/m    

                      1 
  1/( 2)P m   2/(2 5)P m  
          2 

 ( 1)
( 2)
mU
m

   (2 3)
(2 5)

mU
m

 

                    3 

  ( 1)
( 2)c
m
m

  (2 3)
(2 5)c

m
m

 

                 4 

 ( 1)
2 ( 2)
m mQ

m
  ( 1)

(2 5)
m mQ

m
 

                                 5 

 ( 1)
2

mL   ( 2) ( 3)
(2 5)

m mL
m

 

            6 

 
2
mW   ( 1)

(2 3) 2
m mW
m

 

                7 

 ( 2)
2
mT   ( 2) ( 3)

(2 3) 2
m mT

m
 

            8 

 ( 1)
( 2)
mq
m

  (2 3)
(2 5)

mq
m

 

                    9 

 ( 1)
( 2)
mA
m

  (2 3)
(2 5)

mA
m

 

 

 7.2 

       

, . 7.1,     

. 

     1.   
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    /1/1,   

, , 

  . 

 

  1 6 ,   

   

  6 .  

  . ,  

, ,    

, .   , 

.  

     2.  

   

  /2/2.   

, ,     

,    

    .  

 

 2 12 12 ,     

 

  2 1 6 .    

. , ,  

,    

, . ,  

.  
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1 

 
 

2 

 
.7.1.   1 2  

 

.   

, . 7.4,    

. 7.5 
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                                                                                                        7.5 

 

 
 

1 
1 /1/5 

2 
2 /2/10 

 
  

 

1 6  2 12  

 
 

 

1 6  2 6  

 
 

 

1 1m  2 2m  

 
 

 

 
11/( 2) 0,333P m

 
2 0,6661P P  

66,6%1P  

2 /(2 5) 0,2222P m

 22,2%2P  

 
,  

 
 

3,996 41 1 1P
 

2,6642 2 2P
 

 
,  

 
 

 

12 811  
 

2 9,33622
 

 

  

2  

,    16,7 

%,               

9,336 82 1 0,167
81

                                               (7.30) 

, 2,  

  

33,4 % : 
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4 2,6641 2 0,334
41

                                           (7.31) 

2 1  

, .  

  ,   

: 

1 

 1
1 0,0833 5

2 2 6
mW                                                        (7.32) 

2.  

 2 2
2

2

( 1) 2 (2 1) 0,0714 4,28
(2 3) 2 7 2 6

m mW
m

                          (7.33) 

2   1      

. 

 7.3   

     

, . 7.1,     

. 

     1.    

    /1/5,   

,  

,   . 

 

 1 6 ,   

   

  6 .  

  . ,  

, ,    
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, .    

, .  

     2    

  /2/10.  

, ,    

,    

    . 

 

 2 12 12 ,    

 

  2 1 6 .   

. ,  

, ,    

, . , 

.  

1 
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2 

 
.7.2.   1 2  

 

.  

, . 7.4,    
. 7.6 

                                                                                                              7.6 
 

 
 

1 
1 /1/5 

2 
2 /2/10 

 
  

 

1 6  2 12  

 
 

1 6  2 6  

 
 

1 5m  2 10m  

 
 

 

 

11/( 2) 0,1428P m
 

2 0,28561P P  

28,56%1P  

2 /(2 5) 0,082P m

 8%2P  

, 
 

 

1,7141 1 1P  

 

0,962 2 2P  

 
, 

 
 

12 10,2861 1
 

 

2 11,042 2
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2  

,    

7,33%,               

11,04 10,2862 1 0,0733
10,2861

                                        (7.34) 

, 2,  

  

44% : 

1,714 0,961 2 0,44
1,7141

                                          (7.35) 

2 1  

, .  

  ,   

: 

1    

 1
6 0,5 30

2 2 6
mW                                                            (7.36) 

2  

  2 2
2

2

( 1) 12 (12 1) 0,482 28,89
(2 3) 2 27 2 6

m mW
m

                       (7.37) 

2 1      

. 

/m     =1  
: 

 
* 61

6 153 ( 3) 0,1667P c mm c                   3 50c               (7.38)  

 
*6 ( 15)

*6
P cm

P
                     3 50c                                   (7.39) 
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*6 (6 15)
*

P mc
P

                              3 50c                         (7.40) 

 

. 

        /1/m   

,  

:  

lg
1
lg 1m  ,   .P                                                       (7.41) 
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 8.     ,  
 

 
 

 

 

 8.1        M/M/1    

 

 
 

 8.1  M/E/1 

 

1 (1/ ) -   1-     

2 (1/ ) -    2-     

1 (1/ ) -     1-    

1 -      .  1-    

  

2 (1/ ) -      2-     

2 -      .  2-    

  

     -  

    (      ,  

 -  ,   -  ).  
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                                                                                                         8.1 

           8.1 
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2
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                         ( ) 

0,3 1/1 cA           1 1/1 cA  

0, 25 1/2 cB         

0,5 1/2 cB  

0, 25 1/1 cB          

0,5 1/1 cB  

0,3 1/2 cA          1 1/2 cB  

1 1 1/ 0,3  

2 2 2/ 0,5             1 2 0,8  

1 1 1/ 0,5  

2 2 2/ 0,3             

1 2 0,8  

                                              

                   ( ) 

1,8570,3 1 0,5 2
1 1 0,3

cW    2,60,5 2 0,3 1
1 1 0,5

cW  

9,2860,3 1 0,5 2
2 1 0,3) (1 0,3 0,5

cW    13,00,5 2 0,3 1
2 1 0,5) (1 0,5 0,3

cW  

1,857 9,286 11,1431 1 2 cBW W W    2,6 13,0 15,62 1 2 cBW W W  

 

 1 2B BW W , 1 2. 

 A      

 B    

. 
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 1 2B BW W , 1 2. 
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  1  2 

1 = 0,3  1/    1 1 1/ c
  

 1 = 0,25 1/     

1 0,5 1/ c  

2 = 0,25 1/   2 0,5 1/ c 2 = 0,3  1/       2 1 1/ c
  

 

 

 

W1 = 1,857  

W2 = 9,286  

 

 

W1 = 2,6  

W2 = 13  
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2 = 0,25  

1 1 1/ c  2 0,5 1/ c  
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W1 = 0,429  

W2 = 10,143  

 

 

W1 = 2  

W2 = 14  
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   1 1 2 2W W W                                                                                   (8.41) 

:    0,3 1,857 0,5 9, 286 0,8 6,5             5, 2 5, 2  

:         0,3 0, 429 0,5 10,143 0,8 6,5           5, 2 5, 2  

,   

    1-  2-   

. 

 

/1 

1. ,  k  

: 

 1t tk k                                                                                                  (8.42) 
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3 4 3 

,  0,67 0,5 0,333 

 

, Q 
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1. ., ., ., .  

. .:  1982 -484 . 

2. ., .   

. . : 

, 2011.-  326 . 

3. ., .  

. .:  1976 -220 . 

4. ., . . 

. .: , 198 -192 . 

5. , . . .:  

 1981 -128 . 

6. . . 

 2018 -224 . 

7.  . . .: .1979.  

- 600 . 

8.  . . .:  

1979 -432  

9. ., .  

. .: , 2006 -496 . 

10. ., .  

. .:  1986 -312 . 

11. ., .  

. .: . 1972 -256 . 

12. ., ., ., ., .  

. .: , 1978 -408 . 

13. .  

.// 
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2014. 2. - .56-62. 

14. .  

  .//  

. 2018. 4. - .63-67. 

15. . .  , 

. 2007 -126 . 

16 . ., ., , ,   

. .: . 1977. 240 .  

17.. . . .:  

2010 -520 . 

19. . . 

.: . 1976 -56  

20. . . 

.: . 2007. - 173  

21.   . .  .:  2007. - 912 .  

22. . . .: 

 1981 -576 . 

23. .  

 – .:  . 2009. - 642 . 

24. . . . .: 

 1979 -344 . 

25. .  . 

.: . 1979. 268 . 
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